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Solve the literal equatibn fory. /\
v L 2
21;4+_y 123 2. Tx 4y =3y - 14 422y 27 Y=6-32%
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23. The volume V of a cone is given by the formula V = —zr‘h, whereris , 2 2
3 23. a. h:— _/__TW :
the radius of the base and / is the height. 3 \ / = B —-LT]' r (q \o
N b.
a. Solve the formula for height #. 3\/ = Zh
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b. A cone has a volume of 1207 cubic centlmieters and a radius of
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6 centimeters. What is the height of the cone? | = 3v -
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25. A necklace chain costs $15. Beads cost $2.75 each. You spend a total of S an ﬁb val. cq,ua.h en
$28.75 on a necklace and beads before tax. How many beads did you buy e eﬁya( ~ hejaﬁ <

in addition to the necklace?
27. a.__‘i_
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24. A rectangular garden has a length that is five less than twice the width. The
ga;den perimeter is 50 meters. What are the dimensions of the garden?

26. Consider the equation = % Without calculating, how do you know

lx+12
4

x = —16 is an extraneous solution?

27. Your soccer team wants to bﬁy T-shirts. You call two different companies
about prices. Each company charges a price per T-shirt and a set-up fee to
create the team logo. —

-
a. The total cost for Logo set-up | Price per
each company. How many fee T-Shirt(s) _
_ T-shirts is the team buying? Company A $50 $15 SO +1Ss
b. A few players decidenotto | Company B $95 $12 | A4S +12s
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